
Berechne:

Vorgänger 2 888 4 995
Zahl

Nachfolger 2 239

Vorgänger 2 870
Zahl

Nachfolger 8 424 9 645

Vorgänger 3 882 9 995
Zahl

Nachfolger 8 755

Vorgänger 7 713 1 171
Zahl 5 751

Nachfolger
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Vorgänger und Nachfolger bestimmen
Übungen

Vorgänger und Nachfolger bestimmen
Übungen

Nr.: D1262919



Berechne:

Vorgänger 2 888 4 995 2 237
Zahl 2 889 4 996 2 238

Nachfolger 2 890 4 997 2 239

Vorgänger 2 870 8 422 9 643
Zahl 2 871 8 423 9 644

Nachfolger 2 872 8 424 9 645

Vorgänger 3 882 8 753 9 995
Zahl 3 883 8 754 9 996

Nachfolger 3 884 8 755 9 997

Vorgänger 7 713 1 171 5 750
Zahl 7 714 1 172 5 751

Nachfolger 7 715 1 173 5 752
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Vorgänger und Nachfolger bestimmen
Lösungen

Vorgänger und Nachfolger bestimmen
Lösungen

Nr.: D1262919


